КАКО МНОЖИМО ДВА БРОЈА ?
5 ( 43= 5 ( БРОЈ ДЕСЕТИЦА  + 5 ( БРОЈ ЈЕДИНИЦА
         = 5( 40      +      5 ( 3
         = 200         +       15
         = 215
или :

5 ( 43=

множимо прво цифре јединица:

5( 3   = 15,        5        ПИШЕМО ,

                                    А ЈЕДАН ПАМТИМО,

сада множимо цифре десетица:

5( 4   =           20          И ОНАЈ ЈЕДАН,   

                       21


дакле,додајемо:    21              5=215
                        1

        5 ( 43 = 215     



 

